Growth data example specification
X is a 436 x 4 explanatory variable matrix: constant, age, age squared, age cubed. Age is measured in years centered at 13.0 years.

Y is 436 x 2 matrix: level 1 height, level 2 (adult) height

L2ID is 436 x 1 matrix: level 2 identifier

There are no missing data

Fruit intake example

X is 1644 x 1; constant=1
Y is 1644 x 7 matrix:  Fruit intake, gender (girl=1, boy=0), social class, Carstairs index, Health promoting initiative (1=yes, 0=no), hungry for success (1=yes, 0=no), pupils can buy fruit (1=every day, 1=sometimes, 2=never)
L2ID is 1644 x 1: level 2 identifier

Missing data have the value -9.999e+029 (-9.999 x 1029 )
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